0531+21: 201/7-10-20-06:51:10.ar

BC P(ms)= 33.741267062 TC P(ms)= 33.738487894 DM= 56.785 RAJ= 05:34:31.97 DecJ= 22:00:52.1

BC MJD = 58046.292317 Centre freq(MHz) = 424.168 Bandwidth(MHz) = =35 | = 184.558 b = —5.784

NBin = 32 NChan = 256 NSub = 50 TBin(ms) = 1.054 TSub(s) = 5.000 TSpan(s) = 490.856

P(us): offset = 0.00000, step = 0.07247, range = 7.11439 DM: offset = 0.000, step = 0.138, range = 70.906
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Pulse Phase Pulse Phase
BC prd (ms): 33.741194588 TC prd (ms): 33.738415426 DM: 56.508 BC freq (Hz): 29.637362050
Corrn (ms): —0.000072474 Corrn (ms): —0.000072468 Corrn: —0.276  Freq err. (Hz): 0.000096651
Error (ms): 0.000110034 Error (ms): 0.000110034 Error: 0.417  Width (ms): 3.163
Best S/N: 31.88
=
To)
o
@)
O —
T N T N T N T N T T ‘

1.2



